> g = 2%

> prem(a,

> r[0] :=
r[l] :=
k := 1:

r[k
pri
k :
od:
n := k-

ged = p

3

x-3;
g=2x-—3

> a := expand( g*randpoly(x,dense,degree=5) );

a=-14x" 1655 — 176 x* — 23 x° + 456 x* — 373 x + 168

> b := expand( g*randpoly(x,dense,degree=5) );

bi=-124x + 380 x* — 437 x° 4+ 211 x> — 154 x + 249

> gcd(a,b);

2x—3

> m := lcoeff(b,x)"2;

m = 15376

> rem(m*a,b,x);

2906344 x* — 1917324 x> + 7856940 x> — 6589472 x + 3265428
b,x);
~906344 x* — 1917324 x> + 7856940 x> — 6589472 x + 3265428

> content(a,x);
> content (b, x);

;The primitive Euclidean algorithm in Z[x]

a;
b;

while é[k] <> 0 do # the primitive Euclidean algorithm in Z[x]

+1] := primpart( prem(r[k-1],r[k],x), x );
nt( evaln(r[k+1l]) = r[k+1l] );

= k+1;

1;

rimpart( r[n], x );
ro = 14x0 1655 — 176X — 237 + 456 5% — 373 x + 168

ry =124 +380x" — 4370 + 21127 — 154 x + 249

r, = -226586 x* — 479331 x° + 1964235 x* — 1647368 x + 816357
= ~9585474986 x° + 22307021423 x> — 17598916464 x + 8558554572

r4==6735556156565212-—-2682736267844x¢—-147525909120951

r5=—2x+3
r6=O
n:=35

ged=-2x+3
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